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Aufgaben-Quickname: 6732

Aufgabe 1

Berechne.

a) —16 + (—6) - (—9)
d) 20 — 17 + 14
g) 174+9-9
912 — (—19)

Aufgabe 2

b) 7 — (—14) + (=7)
e) =11 —(=3) =5
h) =19 — (=7) = (=7)

¢) —9—16+16
f) (18 — 15) - (=3)
i) (=7) - ((=15) = 14)

Berechne.

a) =3+ (—14) — 14 b) (—1 —8) - (—12) ¢)—4—14+14
d)2-(—4)-9 e) 19—( 14) . £) (=7) - ((—13) — 12)

g) (=14): ((=4) +5) 1) (=17)-(=12) - 17

i) 19 - ((—10) + (—16)) )—16— 16 — 2

Aufgabe 3
Berechne.

A)17—1245-3—4

b) 14-17—5-(345)
c)13-3-6—-19—19 d) (11 —11) -

(14 — 12+ 9)

)
) 14— 12+ 3+7— 10
) 11-17-19-10- 10

)8-10— 18 — 16 — 11

Aufgabe 4

Berechne.

2 ((—3 —11)) - ((—20) — 18
(CD O (018 s

¢) (=7)-8—13 =11
e) 20 — (—9) — (=3) - 8
g) 20 : (—5) - 8 — (—13)

i) 19 — 19+ (—16) + 16

Viel Erfolg!

www.dw-aufgaben.de

£)2-15:5- (19 — 8)
h) 17 (9 + 10) — 13 - 16
) 11+114+13-(749)

b) 1617 —3- 14

)20 — (54 (=5H)) -7
h) ((=3) +3) - (17 = (—16))
PH=2+11—(=7)—(=7)
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